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Trace amounts of phenol are to be removed continuously from a water

stream by extraction with pure xylene. Denote the aqueous phase as

T and the organic phase as II. Then from the value in Perry’s Chemical

Engineers’ Handbook we have M = 1.4.

(a) If90 percent of the phenol is to be removed in a single equilibrium
stage what xylene/water flow rate ratio is required ?

(b) If two equilibrium stages are to be used with the cffiuent from stage
1 as a feed to the second stage what xylene/water flow rate ratio
is required for each stage?




